GAR MG
5 E AR i 1 HANSAVFLEX

| _§:3 ey &1
o1 BSPAISRL, B i '
EBHEX1 AR
#¥O2 K RS B AT a1
BHER 2 2414
=g APl fiE £ iR E 1 ”ﬂj%
£1lrR BEE A5
79,3 DIN 2353 : I Lzh -

ISO 8434-1 N . |
HEBHE SRR BRNEE
R¥ HA
’xR
BXRE, EA, ENARAATNIERENRHELSASEREENERER.
g

MR ITHEEH B

GAR NW 04 HL MG L PN 200 6 G 1/8"-28 M12x1.5 12,0 34,0 19,0 14 14
GAR NW 06 HL MG L PN 200 8 G 1/4" -19 M14x1.5 17,0 39,0 24,0 19 17
GARNWO6 HL1/2MG L PN 200 8 G1/2"-14 M14x1.5 20,0 44,0 29,0 27 17
GAR NW 08 HL MG L PN 200 10 G 1/4" -19 M16x 1.5 17,0 40,0 25,0 19 19
GAR NW 10 HL MG L PN 200 12 G 3/8"-19 M18x 1.5 17,0 41,0 26,0 22 22
GAR NW 13 HL MG L PN 200 15 G 1/2"-14 M22x1.5 20,0 45,0 30,0 27 27
GAR NW 16 HL MG L PN 200 18 G 1/2"-14 M26x 1.5 20,0 46,0 29,5 27 32
GAR NW 20 HL MG L PN 100 22 G 3/4" -14 M30x2 22,0 51,0 34,5 32 36
GAR NW 04 HS MG S PN 250 8 G 1/4" -19 M16x 1.5 17,0 41,0 26,0 19 19
GAR NW 06 HS MG S PN 250 10 G 3/8"-19 M18x1.5 17,0 42,0 26,5 24 22
FHRILL=FER =B S=E - PN=FIEESN PB=HAIkEN - 0d2=EHER

FREE
GAR  fEERIRIIESE W
GARVA _fif FRIRIIEE THN

RELZI T FAFH BB ETEHBRR EERY TTRE X TR BB 15 B BAEAR L AT RIDHE I F Ao
24.08.2025 HANSA-FLEX AG www.hansa-flex.com 1



